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Chapter 10 Test study guide

Explain how the graph of each function below is different from the parent function: y = x?

1. y=—2x%+2 2. y = —x? 3. y = 2x? 4, y=3x?>—4
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Write each equation in vertex form. Give the coordinates for the vertex and determine if that point is

a maximum or minimum
5. y=x*—6x+5 6. y=x%+5x—12
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Graph each funglnn 5?«:8 at least 3 points on each side of the axis of symmetry

7. y——x "‘1%-«A—r~ _ 8. y=-x+3
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10. y=x"-5
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> Find the number of x-intercepts of each function.
11. y=8x? 12. y=4x+9 13. 14. y=x*—5x
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Find the value of n such that each expression is a perfect square trinomial. (what would you add to
each side to complete the square?)

15. p?+10p + 16. y2—60y + 17. x> —14x + P B
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Solve each equation provide answers as whole numbers, simplified fractions, or simplified square roots.

18. x*—18x=19
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20. (x-5){(2x+1)=0

X=5

22, ¥*—7x=-12
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19. 4a’+8a-20=0
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21. x*=10x
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24, 2x*-5x=12 25. —x*+6x—4=0
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Model each problem with a quadratic equation. Then solve." ' I
26. The volume of a square pyramid is given by the formula V = ﬂhx where his the he|ght of the

pyramid and x is the length of one side of the base. A pyramid W|th a height of 15 ft has a volume of
2880 ft>. What is the length of one side of the base?

Equation: _ % — = X=

27. The area of a soccer field is 5000 yd®. The length of the field is twice the width. Find the
dimensions of the field.

Equation: W= L=




Choose the best model for t
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ble of values {exponential, quadratic or linear) and write an

_ ("__L’.M_;;")
1 -1 >‘\_3 %\W}rj{f?:;réf
.f, > =3
5y, Ep
: N3 _4
5 11 k= 2K -
\ ot
-1 -2
0 1
1 4
2 13
3 26
-3 -1 N o
-2 1 §7, %\O?‘/ Z
-1 3 B «,Sf.v\)rﬂ'tF\' E
o | s |- -
>~ :
1 7 2 Z>< x5 /


Kathryn Watkins

Kathryn Watkins


. ——
0 -2
1
2 33
3 213
4 1293

© ] 133 . 4.03

2 | 33 =X

3 | 133

lem| U244

, 133

5 | 3133

6 [15633] ., s 4 95
_-__‘___,_._.--“
TS
5334 44
2125




